REDOX REACTIONS ANSWERS
Solutions:

1) a) N+4, O-2; b)H+1, I+5, O-2; c) O0; cd) O0; e) O-1; f) N-3, H+1, Cr+6, O-2; g)N+3, O-2; h)P+3, Cl-1; i) C+1, H-1; j) C+2, H-1; k) Na+1, H+1, C+4, O-2; l) Fe+3, m) Ne0; n) Sc+3, O-2; o) Os+8, O-2; p) H+1,   O-1; q) Pd+4, H-1; r) P0; s) As+3, H-1; t) P+3, O-2; u) N-3, H+1; v) Sn+4, I-1; w) I+3, Cl-1; x) K+1, O-1

1) 16 HCl + 2 KMnO4 ((((  5 Cl2 + 2 KCl + 2 MnCl2 + 8 H2O

2) 10 FeSO4 + 2 KMnO4 + 8 H2SO4 (((( 5 Fe2(SO4)3 + 2 MnSO4 + K2SO4 + 8 H2O

3) 3 Cu + 8 HNO3 (((( 2 NO + 3 Cu(NO3)2 + 4 H2O

4) 3 Zn + 10 HNO3 (((( 4 Zn(NO3)2 + (NH4)NO3 + 3 H2O

5) 2 FeCl2 + H2O2 + 2 HCl (((( 2 FeCl3 + 2 H2O

6) 2 KMnO4 + 5 H2O2 + 3 H2SO4 (((( 2 MnSO4 + 5 O2 + K2SO4 + 8 H2O

7) 2 KMnO4 + 5 SnCl2 + 16 HCl (((( 2 MnCl2 + 5 SnCl4 + 2 KCl + 8 H2O

8) 6 FeSO4 + K2Cr2O7 + 7 H2SO4 ((( Cr2(SO4)3 + 3 Fe2(SO4)3 + K2SO4 + 7 H2O

9) 5 Na2SO3 + 2 NaMnO4 + 6 HCl (((( 5 Na2SO4 + MnCl2 + 3 H2O + 2 NaCl

10) O2 + 2 H2S (((( 2 S + 2 H2O

11) 2 MnO2 + O2 + 4 KOH ((((2 K2MnO4 + 2 H2O

12) 3 SO2 + 2 HNO3 + 2 H2O (((( 3 H2SO4 + 2 NO

13) 4 Zn + NaNO3 + 7 NaOH (((( 4 Na2ZnO2 + NH3 + 2 H2O

14) 6 KI + KClO3 + 3 H2O (((( 3 I2 + KCl + 6 KOH

15) 8 Al + 3 NaNO3 + 5 NaOH + 18 H2O (((( 8 Na[Al(OH)4] + 3 NH3
16) 8 KMnO4 + 5 K2S2O3 + 14 HCl (((( 9 K2SO4 + 7 MnCl2 + MnSO4 + 7 H2O

17) NaClO3 + 2 Cr(NO3)3 + 10 NaOH (((( NaCl + 2 Na2CrO4 + 5 H2O + 6 NaNO3
18) CH3CH2OH + H2O2 (((( CH3CHO + 2 H2O

19) 5 HOOC-COOH + 2 KMnO4 + 6 HCl (((( 10 CO2 + 2 MnCl2 + 8 H2O + 2 KCl

20) 3 CH3CHO + K2Cr2O7 + 4 H2SO4 ((( 3 CH3COOH + Cr2(SO4)3 + 4 H2O + K2SO4
21) K2Cr2O7 + 3 SnO + 20 HCl (((( 3 SnCl4 + 2 CrCl3 + 10 H2O + 2 KCl
22) NaClO + 2 NaI + 2 HCl (((( I2 + 2 NaCl

23) 2 HNO3 + 3 H2S (((( 2 NO + 3 S + 4 H2O
24) 3 NaClO + 2 Fe(OH)3 + 4 NaOH (((( 3 NaCl + 2 Na2[FeO4] + 5 H2O
25) 2 KMnO4 + 10 KCI + 8 H2SO4 (((( 2 MnSO4 + 5 CI2 + 6 K2SO4 + 8 H2O
26) 4 HNO3 + Fe (((( Fe(NO3)3 + NO + 2 H2O
3) a) K2Cr2O7 + 6 HI + 8 HClO4  2 Cr(ClO4)3 + 3 I2 + 2 K2SO4 + 7 H2O

b) Cr2O7=, c) 304.8 g I2
4) a) 2 KMnO4 + 5 H2S + 3 H2SO4  2 MnSO4 + 5 S + K2SO4 + 8 H2O

b) MnO4-, c) 6.25 L

5) a) MnO2 + 2 KI + 2 H2SO4  MnSO4+ K2SO4 + I2 + 2 H2O

b) MnO2 (oxidant), I- (reductant), c) 2794 g

6) a) 2 HNO3 + Hg + 2 HCl   2 NO2 + HgCl2 + 2 H2O

b) Hg, c) 49.2 L

7) a) 0.67 A, b) 4 h
8) a) 5x10-3 mol, b) 0.4995 M

9) a) 9650 s or 2h 40’ 50”, b) A third, 3.33x10-3 mol

10) a) Higher number for Cu than for Al, at a rate of 3/2, b) it should decrease.
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